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1. The time zone [+/-ZZZZ], when used, is restricted to legally-defined time zones and is represented in ________format.

A). HHMMSS 

B). HHMM

C). YYYYMMDD, HHMM

D). YYYYMMDD, HHMMSS

2. RP Data Type consists of these components

A). Application Id

B). Type of Data

C). subtype

D). All of the above

3. What are the steps in Response to any message from Receiving system, when original acknowledgement rules apply? 

A). Accepts, Validates, Passes, 

B). Validates, Passes, Accepts

C). Passes, Validate, Accept

D). None of the above

4. Which of the following is (are) invalid in SN Data Type

A). |^2^*^5|

B). |^2^/^5|

C). |^2^:^5|

D). |^2^-^5|

5. Which of the following statements are true? 

I. A DICOM image could be transmitted in an ED (Encapsulated Data) data type. 

II. A value of type HD (Hierarchic Designator) could contain as one of its components, a DICOM image. 

III. A DICOM image could be transmitted in a CD (Channel Definition) data type. 

A). I, II, and III. 

B). I and II only 

C). I and III only 

D). II and III only 

E). I only

6. In HL7 Coding system table, Value ‘HL7nnnn’, nnnn represents which of the following?




A). Message Code

B). Event Type

C). Table Number

D). None of the Above

7. If group of a segment is optional & may repeat it should be enclosed in 

A). {…}

B). {[…]}

C). […]

D). [{…}]

8. In NM data type representation “-123.792” is same as 

A). “123.792”

B). “-123.0792”

C). “-123.79”

D). None of the Above

9. \ABC^DEF^^\ and \ABC^DEF\ are equivalent. (T/F)

10. Continuation Protocols work with

A). Record Oriented Messages

B). Gamma Messages

C). All of the above

D). None of the above

11. In the message segment ‘A’ is sent as

A|34
ADD|5|678|
ADD|90 , then it is equivalent to:

A). A|345|678|90

B). A|34|5|678|90

C). A|34|5|67890

D). None of the above
12. HL7 table 0003 defines option for

A). Message Code

B). User Defined Source

C). Trigger Event

D). Message Structure

13. .nf  in Formatting commands means

A). Begin No format Mode

B). Begin No-Wrap Mode

C). Begin Word-wrap Mode

D). None of the above

14. “Action code / Unique identifier” mode used for updating repeated segments is available for use only for new segments for Version 2.5 and higher

A). True

B). False

C). Cannot be inferred from HL7 Standard

15. Following rules when applied for locally extending data types will not cause conformance problems with the next release of the HL7 standard?

I. Extending an HL7 data type with locally defined components 

II. Data types may be locally extended by adding new components at the end

III. Locally redefining existing data type components

IV. Locally defined data types may be can be used with locally defined segment fields

V. Locally extending an HL7 segment with locally defined fields

VI. A “Z segment” can be incorporated into a segment group locally 

A). I,II,IV

B). II,III,IV,V

C). I,IV,VI

D). III,II,VI

E). None of the above

16. Which of the following statement is incorrect in reference of locally extended message?

A). Users may develop local Z messages to cover areas not already covered by existing HL7 messages. These should be composed of HL7 segments where possible.

B). A local Z message may not consist entirely of Z segments except that it must begin with a MSH segment.

C). A local Z Acknowledgement message must begin with an MSH segment followed by an MSA segment, an optional SFT segment and a conditional ERR segment.

D). Users may develop Z segments and add them to Z messages.
17. Which of the following are components of date/time (DTM) data type?

A). Date/Time

B). Priority

C). Interval

D). Repeat Pattern

18. Modes for updating via repeating segments are

A). Action code/unique identifier

B). Snapshot Mode

C). Dynamic Mode

D). All of the above
19. The receiving system generates error conditions by the comparison of the sequence number sent out with the expected sequence number, when

A). Expected sequence number is one greater than the current value

B). Expected sequence number is less than current value

C). Other errors: freeze the link for operator intervention

D). A and C

E). A, B and C

20. What is the original message which is fragmented as below:

A|4|

ADD|456|72

B|95

ADD|4|93|6

C|1

D|8

A). A|4456|72

B|95|4|93|6

C|1

D|8

B). A|4|456|72

B|954|93|6

C|1

D|8

C). A|4456|72

B|954|93|6

C|1

D|8

D). A|4|456|72

B|95|4|93|6

C|1

D|8.
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